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QUESTION 1

What\\'s is the recommended practice to copy properties values from a case to one of its subcases 

A. Data Propagation 

B. Data page 

C. Properties value are copied automatically, with no configuration needed 

D. Declare Expression 

Correct Answer: A 

 

QUESTION 2

During rule resolution, a circumstanced rule is executed if the value of the circumstance property on the rule matches
that property\\'s value on the clipboard at runtime. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

When are Data Pages created on the clipboard? 

A. At system startup 

B. When first accessed 

C. When the user logs in 

D. When the previous version expires 

Correct Answer: B 

 

QUESTION 4

Which of the following represent class for case type 

A. PYD-HRServices 

B. PYD-HRServices-Work 

C. PYD-HRServices-Work-FinalOrder 
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D. PYD-Data 

Correct Answer: C 

 

QUESTION 5

Which statement is true about pattern inheritance? (Choose One) 

A. It only applies to work classes 

B. It causes a class to inherit rules from parent classes, matching its prefix to the parent class name 

C. It is executed after directed inheritance 

D. It makes it possible to define the parent explicitly, rather than by name 

Correct Answer: B 

 

QUESTION 6

Which of the following are true about classes in PRPC? (Choose Two) 

A. Classes represent the applicability of rules 

B. Rules can only be inherited from a class designated as a prerequisite class 

C. Classes can inherit rules from other classes 

D. Classes can be versioned using a set of three two-digit numbers, such as 01-05-17 

Correct Answer: AC 

 

QUESTION 7

You have been asked to model an expense report case that has the following requirements. 

An expense report is completed by an employee. 

An expense report is approved by a manager. 

An expense report with client expenses should be audited. 

An expense report is paid to an employee. 

Which requirement could be implemented as an alternate stage? 

A. An expense report is paid to an employee 

B. None of these should be implemented as an alternate stage 

C. An expense report with client expenses should be audited 
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D. An expense report is approved by a manager 

Correct Answer: A 

 

QUESTION 8

Which of the following classes correspond to a case type_ 

A. MyCo-HRApp 

B. MyCo-HRApp-Work 

C. Work-

D. MyCo-HRApp-Work-EnrollBenefits 

Correct Answer: D 

 

QUESTION 9

Which of the following are benefits of using Data Pages in an Application? (Choose Two) 

A. Allows access to data directly from Data Pages rules 

B. Make application more reusable 

C. Increase performace due to caching 

D. Keeps the date layer separate from business logic, UI and process(Missed) 

Correct Answer: CD 

 

QUESTION 10

Which of the following is NOT true of a local flow action? 

A. It causes the assignment to remain on the current user\\'s worklist 

B. It advances the flow 

C. It can be used to update assignment or case properties 

D. It permits users to complete an optional task, such as attaching supporting documentation 

Correct Answer: B 

 

QUESTION 11

All of the following are valid Pega 7 property types EXCEPT: 
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A. Date 

B. Text 

C. String 

D. Decimal 

Correct Answer: C 

 

QUESTION 12

To create a report that displays all open cases (.pyStatusWork) and who they are assigned to (.pxAssignedOperatorID),
which of these two properties would you need to optimize? 

A. Only .pxAssignedOperatorID 

B. Both .pxAssignedOperatorID and .pyStatusWork 

C. Property optimizations is not required 

D. Only .pyStatusWork 

Correct Answer: C 

 

QUESTION 13

Primary path stages can be defined as: (Choose Two) 

A. Stages that can be transitioned either manually or automatically 

B. Stages that can only be transitioned in the order defined in case map 

C. Stages that represent a normale course of events when describing a case (Missed) 

D. Stages with no conditions or logic between steps 

Correct Answer: AC 

 

QUESTION 14

Which statement best describes how a service level affects the urgency value of an assignment or a case? 

A. When a given milestone is reached, the urgency value is set to the specified value in that milestone. 

B. When a given milestone is reached, the current urgency value is checked. If it is greater than the value specified in
that milestone, the Escalation Action is triggered. 

C. If the current urgency value is less than the urgency value specified in the milestone, It is adjusted to the urgency
value specified in that milestone - otherwise, it remains the same. 
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D. When a given milestone is reached, the specified urgency value is added to the current urgency value. 

Correct Answer: D 

 

QUESTION 15

What is the effect of setting a rule availability to "Withdrawn"? (Choose Two) 

A. It prevents the rule from being chosen by rule resolution 

B. It prevents older versions of the same rule from being chosen by rule resolution 

C. It presents an error to the operator if the rule is chosen by rule resolution 

D. It prevents the rule from being copied 

E. It prevents further edits of the rule 

Correct Answer: AB 
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